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N.B. .— () Attempt All questions.
(@1) All questions carry equal marks.
(@) W& R e
(i) |E YA FHE O S
MCQ)
1. Attempt Multiple Choice Questions : 10

SRUAR TR Hrean

() “Agricultural Economics may be defined as the application of general

economics to the craft and business of agriculture”.

(A)  Gray (B) Hibbard

(C)  Wallas (D) Haward

I FEHETEl 9 Tholdll W ST T AF] il USE hivl
DN e I

(A) 7 (B) feere

(C) =™ (D) @

P.T.O.
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............................. is an agriculture allied activity;

(A)  Fishery (B) Coal Industry
(C) Cement Industry (D) Iron and Steel Industry
.............................. 71 I T o,

(A)  HEERT (B) “hiesdl SEMM

(C) fadve 3=Em (D) g 9 g 3En
Who is called as father of Indian Green Revolution ?
(A) Vasantrao Naik (B) Amartya Sen
(C) M.S. Swaminathan (D) Normen Borlaug
I BRA A S WA RIME S@e S ?

(A) TERE TEH (B) 39 ¥

(C) THTH. w@fEeA (D) A SR
Which of the following is not an agriculture input ?
(A)  Fertilizer (B) Cotton

(C)  Pesticides (D) Seeds

TIAeh! hIOd FET TEH A& 2

(A  Td (B) =1qH

(C)  fepemmee (D) femma

Probable risk in agricultural modernisation is :

(A)  Reduction in production cost

(B)  Reduction in income

(C)  Reduction in production

(D)  Reduction in farm employment

Q= STYehleh vl §9e 4l WS ¢

(A) SURA TEi He (B) U ®E

(C) el 2 (D) Tt ST =
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India’s world rank in Horticulture is .............c...... .

(A)  First (B) Second

(C)  Third (D) Sixth

FAICITEATT SIS ST e FHF 3.

(A)  dfgen (B) 3&U

(©) fagq (D) ¥

Per hectare production is called as ........................ ¢

(A) Land productivity (B) Labour productivity
(C) Both (A) and (B) (D) None of these

gfd g IURA WUNS ?

(A) SHHET Scargehd] (B) &M= ScqIgehdl

(C) (A) =ufor (B) T (D) Fmeh

Which method is being used for Floriculture on a larger scale in India
recently ?

(A)  Traditional Method (B) Greenhouse Method
(C)  Both (A) and (B) (D) None of these

SfTheld HIBM TRA HACAGATIS! Higal FHIUIG IVl Tgdien Tacs

el S S ?

(A) WA 95 (B) BRaE dsd
(C) (A) =i (B) <t (D) At &
................................ is the factor responsible to the segmentation of land
in India
(A)  Increasing population (B) Law of inheritance
(C)  Both (A) and (B) (D) None of these
................................... %'bldOh RIS ST Q)Ohsr\IOh{UIIH Ohl{Uﬁ’fT \‘HIE;CI.
(A) 9l e (B) oRET &k HIFCT
(C)  (A) snfor (B) <t (D) et AR
P.T.O.
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(x) Which of the following is the primary economic activity ?
(A) Banking (B) Mining
(C) Marketing (D) Manufacturing
TTCleush! hioRt sTfies R & wiafies onfefe fovem o ?
(A) S (B)
(C)  formumA (D) HREFR
(Theory)
2. Explain the role of Agriculture in Economic Development. 10
aTfofer fasmma Fei=l iR T &
Or
(fenam)

State the importance of Fisheries. 10

Ao caIgATd Hed a9 .

3. Write the causes of low prodcutivity of Indian Agriculture. 10
ARAT dr=AT 3T Icdeehdal wRul foral.
Or
(fenam)
Explain the role of subsidies in Indian Agriculture. 10
A FS &1 AR ek favg .
4, Write short notes on (any two) : 10

@) Floriculture
(i) ~ Farm Budgeting
(z11)  Modern Agriculture

(tv)  Fertilizer Subsidy.
Jresma few fag (St g@F)

(i) AR
@) FE EIAH
(i) 3MYfTeR A
(fv) TAq 3TI<M.
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